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Average

ﬂg@_nagg‘; A nuniben that express he Gentre Ualue Of

Set of dala:

Sum of Nurtbens
AVemage = a1 Nurribens

o ﬂvenage iz alro Callod a8 Mean Somelimes
Eg: Fnd the uenage OF 33,3 d S+

=33+49+51 = 433 = ue33 (g
3 3

Modenen Mefhod 4o Cafeulste the auensge
@ Calculste the auensge of the Funnwina Narriberss

50“3“.: Conceptual Method Bicam MetPod

= 03% + 253+ 191 + 322+ 158 231,258,18%,322, 158

5 Lek ﬂua '3 200
= A462 037, 258, 1f7,322, 158
5 )
24 fina | %3 +s58 ~13 4122 -2
= 3L .
g Q_o()-\-fl__—e’...z-'- = 232:(
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\ Heﬂ;ﬁmg Hahd

@ - let a num‘f)en hean‘l)a these numbens 23258, 1%, 183
322, 158.
L[i‘ = 200"
()~ the the ,Difrenence of nunibeny From 200 With Sigh-
+32, +58, -134y +422, -42

Result = 162
© — Divide the nesult “%3 tofat Count of hurribens &)

- 482 - w0y

N
@ - Add thig Narfiben to assumed numben -

= 200+ 324

= 2324 fng
=== S s B

Avonsge OF Consecutive naluzal nuribens Consecutive @ven tumbe
| Consecutive odd namibens -ﬁam‘ng Some diBfenence -

= Pynst Numben + Last Nurben

T 73

ES:~ fnd 1he avengge of the natunal humbeng biuwr 3 ¢ 1ug.

X X X

Salh- Natwal unibeng blur-39 149
‘495--------“-.‘1}(8,

= ytdug =
0

= 36 finy
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_ [:T‘nd the auenage of even hurﬁﬁeng forom 14 to 14+

Sal™ M8y MUy v crer 114 4 116
2
Bna the odd hum"o%% bjlw B é au.
Sonn—) 9,15_,.__---.- 61763
2.

@3‘.— Bnd the averge of the given Senies

&, 4l 5 —-——- 1 31, 95,93

e --91,95, 99

Jolts Ba¥: % -7 A
RN

°> {he Qiffenence bjur +he rurben 15 always Same . (&)

3+33 — 402 = 51 (ng

2

P finst_n hatwal Nurmbers

Avenage Of Squane O
- Y|

= (n+1) @&n 1)
G
16
G fnd 3venage of Squane of 1 to
- tl(:ﬁ"].)ﬁi’)?;l"l) = Q13RS = _/}___g_-_'.]_.-_ = 490.5 &Q&—
o ] i Tbor
x fuorage Of Cibe of Rt n_naturl urmoenzs
= | n+1)
e of 1 012

Cy. find the aveﬂaae of G

_q mQ»A) = 3163 = 503}
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salved eocamples
prablema based om muvmbers
Q.| Bind the average of the rwanbers fromm 3 Lo 147.

SOZ :
Gost numben + Last numben
: MS- - - lus,/g,u%m?

= v\
(I | i

= 3t1UF <« 15 @
Z

Q.2 Rind the average of firat 1s mmudiliples of 4.

—— e o o ——

)]

fonst numben + dast hum‘%en = 32 An%_
2

Q.3 yf.thzwuzzwg_e.o,!.tfm%nﬂwmlzuthz&mmagza/m
muvmbers Lo m? Them fimd the awerage of (m + m)

murnbers”.
sal:
avg of Mm merr[f-)Qng — Qum of m Mermbeny
" m
nz = <umof n nurfibens
m

Sum = mn”

vy of h membeng = Sum of N num%apj_
n

Sum = nm=

: 2 2
avg. of (min) hunibeny = mn+ hm
min

= mn (Mmtn)
(m+h)

_—_mnﬂu_

a
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Q. 4 Thwee natural sruwmbers are such that the .second
mumbenr La ludce the firat u third ia trice the aecomd &

arverage of all Lhree muwmbera Lo 147, Find the largeat
mumbenr.

sal: @ ® @ Htenten g
H 2. B =
hoic” o
?:_;1_-—-1&41

Lanaes’w RUMbeN = ug xé LieLs)

=294 fing

Q.5 The amerage of 9 muvmbers ia 27. the average aof firat 4 of

themm ia 23&£hzwvmg_ea{.(aat{am£a 31. rind the
smlddle ruvimbien.

sal:
638 *Qum st W =
123y i 9 Qum of Fnst 4 humbens23xy=g9.
23xy A 3lxy * Sum of last Foun Numbeng=31xy =12y
23X4+ H +31XU= 23 X3 * Middly Nuriben = o

J2+4H 4124y =2u3

* Jum of Al nunvibens = 9x23 =243
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k., of 27

womem Lo 77. Whal 16 the awerage cul. of combined

clasa.
(Combrined venage

Q.2 AW

= 20710 + 2019

Lcore class p,

hauj.'rr@u)z .......

N4 NP w < wn
23%X30+ 2% X3}
2342t

= W43 - 32-94 fing
SO 50 o

76& 85 auvmben of

Q R L& 83,

Lludent im clavs P, Q ¥ RAL 27, 36 & 45, themn find the
Wmqumm P, @ & R.

sal:
P & R

mﬁ;?ﬁ 3 S

Ratio’, 23 236& U3
J YT H

Let d§sumed aug = 8o

Now +3 -u 45
X3 ¥4 x5

g-16 +25 =19
= (‘I‘gli’l 2 1.5

)]

Bo+ 1-5

ﬁiit&gL

Hebbing fand !

U
() Let & nunibenbe aug hean By th
nunibeny 83, 36, 85
Le:ga
(1) Take pfe -

83-90 = +3
F6- 80 =~y
¥5-8% =5

() Mateculs With the viato
(+3x3)* (~1xu) + (5xs)

= 9-16+25 =
vy 18
3+u+s (Rato of Students

(V) Add in +the the Assumed mean
= 30+45 fns
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Q.3 The anverage score of clads P, @ R L2 97, 104 & 934
reopeclinvelyy. average score of P & QAa 93 & the average
Lcore of @ & R Lo 98, Fimd the combimed amverage of all
classes.

sat. o f 10% /gf& aug. Scoses of Py Q¢ t-

Ay (33 ———)aqﬂ- Scove of Q& R.

Sore (" 17 T Ratio of humben of Student in Q4R
PQ.

let assumed aug = 100
g— Q R . \
9 104 9y [Use oF Adugation Mefﬁog_l

1p00
=3 +y -6
x| Xy Xb =53 —-53
> 2
Cowv ected ﬂuﬂ = 100-25 = 9%5 fny .
eaccluding or

Q.1 The awverage age of 30 aludents ia 9 years. | the age of
the Leacher io aloo imcluded them amerage become io.
rind the age of teachen.

sol: Basic Method
Sum of 89e of Students +8ge of teacfle _ New fug -
il kotal Count

BORITWIL _ o 5 gr0+H =30

B
Advance %%Wﬁ‘ Hedbing Hand

Werben Ay * Aige of teachen

307y 9 = flug: of Studest X no-of mom-

(/+1 1o ben Tnduded

Bk + totat mamben Aug- Tnovosted

Age of ‘oachen=9x1431 %1 -
= U0 Yoh-
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Q.2 Average of 40 alaff{ rmembers ib 18 geard. | 20 mew
anenmber were joimed, Average imcreased by 6 momiha.
rind the awm of mew memberd.

sal: Memf]ena ﬁug-
\L +?_0’4/5 Y
TE flyg-of tew membens,
Sum of new menheng = 1§x20+ 6oX - S Axked = 390 <195
= 360 +30 Ty

= 390 fing

Rasic Abbyoch
Yor1% + Sum oFScme_’m 18X'5
420+ H = MO =2 H= 390

Q.3 i the average age of 24 studemts & | Lfeacher Ls 1S years.
the lfeacher’s age Lo excluded their awerage ALa
decreased by | year. sind the age of teachen.

s Menthen ﬂtgj
Ty
24 /
= 1x15+24x1 = 33 Yo

a. 4 the average of 25 members Lo 18.75. i ome muwmber Lo
eoccluded anverage becorme 16. Fimd the eaccluded ruvimbenr.

saol:
Exam method Rasic Method
Memﬁen Ayg- 25%18.15 - 24x1b
e,,,/’lﬁ 15
= u68-35 - 39
2y )/ 1(15 q

< W15
2ux2-15+ 4875 X104 75 fne
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When Average Tnereased

New Ponison Wt - = ald Penson uk + ﬂus- X Tincreasi

50+ 4o ¥ '35 r?

s) t<d
. Qe%ﬂamha the Pansons , TP a Ponson s ehlaced New Penson =
New Ponson = afd Penson 4 o0d Aug- X ﬂtﬂ-‘fncreased'
bt e :

o hen aug- decyeased ba a ‘F:engon mdanaced (use about
formula  With (- Sigw)

o

e Wen avg: viemaing Same %3 me?allacina the “enson then
but oOF ald Poson ¢ new Ponson 1% Sanu

méiaread problerns
Q.1 The av

25 ohoervaltions L& 13. u was Later found
that om oboervaliom 73 wab wromgly emtered ao 48. The
met anerage Lo -

sol:  Qasic Method ~

total Thneogrect Sum= 25 x 13

= 325
Cosrect Sum = 325-4B +33
= 36O
C&J’U‘le(?t av& = 3090 = 1y
25
Exam Q%GDC% % Diffeneny
New Aug = Pone Aug- Tl Pewmeis
e AN w
25

~ a3+l = Wik
9
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Q.2 TAe anerage imarke of 14 aludemts was calcwlated as 71.
Bl Later A& Lo that there was am AROK AN mOLing
the mmark. of 2 atudenta as 42. imotead 56 & 74 inolead

of 32. what Lo correct anverage of the sludents.
sal:
I+ 86+ 32-u2-Ty

1y

=H-— 28 = 69flm
Iy

miacellameaws problema:

a1 The average age of a family of 4+ members 3 gears ago
Lo 21 gears. A baby io borm & mow the average age of
family ia same as before. simd the age of the baby.
sal:
F\uonage Age 3 yeany ago = 2%
Sum age 3 Yoy ago = 2ix

= B4
Sum of Present age = Bur 3y
= 396
Sum of PneSent age of & merihery, =heo augx §
= 2Ax5
= |05
Age of Baby = 1as-g¢

=9 yeww b

10
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SIMPLIFICATION

2 Fraction,
L= 1007, %y = 0% % = 3157
Yo =507, g = 8-B7. /8 = 62-57.
Vo = 33.33. Via = 1-697. g = @157
%= 257, Y =F-147- Sk = 83.337.
% = g07. /s = 6-€€ 7. Win = 91.47 7.
I/g = 16-€£7. {/16 = @-157.
{/';- = |4-287. l/l? = 5-887. L‘("WT
bg =12-57. g = 5-5¢71-
Yq =1-117- l/iq = 5-267
Yo = 107. Vao =57.

/ ML bLfca‘t‘l‘Qﬂ_

|fraction | —— Addition

\ Sy b‘b’ac%'m

o o RATE 1T 3 wate, ot T

11
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Meleplicabion fﬂ::

(a> /.

T = 4.287 (b) f/q_ = 25y
@Q (4
S g = 714 7 °ly = 12-57.
(4
| _ =
b = 595 %

iy L
(&) % = 16-6¢ 7. € L = q.09y.

G ¢

/ 4 i
Ip ZB7527 o, /TR WY
Addition fmﬂ:
@) l07.697. Chl H&E.&¢ .
=3 60y <+ F-£9 . —o7/. + 1£-6€ 7.
= / — —
=L+ Mz =13 =1 +¥ =1L
) 131-57. (o) [¢9.5 Y.
—32 {00 ¥ .4 357, = o0/ +£2-5 7.
:.f#g/e:ll/é :,‘}_5/8
o I8
5 B

12
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@) 96.9¢, (b) 87%-8 7.
= oo /. —9.09v. = 0/ —l2-57.
-1 -4
ey > 4 s
= 1o =
TR g g
(C) 99.8¢ v.

oo/ - T-14 .
’..

o =17

P

= by

€S- [[-28-5¢% of 35+ 87-57. & 32 =2
=(2xVs)x35 + (loo7. —12:57) X 32 = >,
=2x35 + (1-g)x 82
-“i-vsS-I— %xm
= Jo+ 28 = 3B 4ng

3%-5v. of €4 + 16-€€% erg. 04 =J729 + >
=3C12-57) x<cu + (&) X 24 = 2% +

4..
=38xL o’ + L xad = 2F +n
& &

13
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=244y =g +3C

[3.] 4e 7. of 234 Loo 7. = 2uay
/'\ S0Y. = (9lF
S0% -2y & =024.24
= 1203 —ug.¢8 27 = Ug-68
= 1168 .22 4y

qs . c} 2480
AN

O -gl /.
LD QY go
1230 - 123 SO/ — 1220
=110F 4ng Sl — g
5. /SS\/ o?g Sos
S50v +5S /. o0 /. — 504

2625 +2¢ .05 RO, R g0

= 28935 An SV = og08
& o
26 7. ag; 1248
k'
254117, lop 7. — laug
512 Lin -t 7. — Yy >layg=gn

= 324-ug 4, [7- = 1248,

14
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GT-€& 7. 33
/\

§C-6cv 4] -
CCrEL . 66-C6 7.
224¢ + 33-69F LQ —

— 3
=29279.¢9 Ans 5
=X a3
- =9224¢
Bsa Q-2

oo 4oy g

T .
Tow Tl %Jr% Botv aswe Same,

How 1l works *
== 1os WoKs !
WS¢ f 50

"‘)5{1 ergﬂ So = 50 v. a-f S6
|
) v
D[mg ko 8ockuna, Kuch, bbs mahi &cﬁ\mcz,

PQoﬁeéSQ , Diwect
=28 Ay,

15



